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QUESTION 1

What are two benefits provided by IBM Cloud Internet Services? (Choose two.)
A. DDoS Protection

B. Audit and Logging

C. Software Patching

D. Caching Services

E. Disaster Recovery

Correct Answer: AB

QUESTION 2

An application is comprised of a set of core functions such as product catalog, client ratings, user forums, and each
function must be developed and deployed independently of each other. Which architecture supports this requirement?

A. Microservices

B. Platform-as-a-service
C. Fowler

D. Monolithic

Correct Answer: A

QUESTION 3

A company has decided to implement cloud computing service models (laaS, PaaS, SaaS), and is defining the right
persona to use each of them.

Who will be the typical user for laaS?
A. Sales Engineer

B. Line of Business user

C. System Administrator

D. Developer

Correct Answer: C

QUESTION 4
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Which statement is true regarding serverless computing?
A. Users are charged a low hourly rate during idle time for the serverless computing service

B. Implementations differ across service providers, and capabilities vary, including supported runtimes, authentication,
scaling and monitoring

C. Serverless application are generally long-running (days or weeks) and stateful (maintain state or information across
requests)

D. Serverless is not well-suited for event processing or IOT

Correct Answer: C

QUESTION 5

What is a smart assistant (also known as virtual assistant)?

A. A software application that continues to learn about the user\\'s preferences as usage grows
B. A Cloud device that enables DevOps to build applications easier and faster

C. Atool that helps to manage compliance to various standards

D. A small sensor or other device that constantly send its status and other data to the cloud

Correct Answer: A
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